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(@)4 v10cm @ 24/10cm ® 8v2cm
@ 16 V2cm ® 4+2cm

AB = CD,ON = 4cm °|22
AONCO|A OC = V122 + 42 = 4/10(cm)
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2V 22 cm 2v 22 cm

® %cm @ 3v2cm @6 V2em
@ 6cm ® 2+1lem

AM = vV22¢cm,MO =x cm ©|H &
& Atole] A7+ 2xem ]tk AAMO
A = o (a) - (vE) -
V40 — 22 = 3V2 (cm)

s (FE Aele] AR]) = 2x3V2 =
6 V2 (cm)
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A0 = TO = r o|gt 3}%, OP° = PT + OT" o 2l5}¢]
(r+4)? =64+ r?
.r==6
wreha] o] Yol ar? = 36x cm? ©|Th
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(1) /ACT = /ABC = 30° °]B& /x =60°
(ii) BDE 199 /CBD =15°

OABDE ©f| A

(ABD + /AED = 180°

Ly + /7 =180°+15°=195°

" /x+ Ly+ lz=060°+195° = 255°
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AB=BT,DC=CT

CH=6, BC=BT+ CT = 10( cm)

~BH= V102 - 62 = 8(cm) . AD = BH = 8cm

w2tA], oABCD £8+= AB+AD+DC+BC = 2+8+8+10 =
28(cm)
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AD=16-r ,BD=30-r

AB = V302 + 162 = 34

AB =AD +BD

34=(16-r)+30-r) .r==6
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@600cm2 @ 640cm? ® 720cm?
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pa=

ODABCD 9] Yo] = % {(12+a) + (12 + b)} x 24

= 12(24 + a+b)
a+b=26(cm) °|BZ
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(9] Wol)=r x (2V3)” = 12x (cm?)
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o2 dHoA & A4 PA ¢ PB =
A0 9 HAMola, /APB = 40° ©]t}.

VN VY =
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D)9 v3cm
@ 12+3cm

@ 10v3cm
® 13V3cm

ZHo2HE 18cm ol HolA 1

® 11V3cm

x=Vi82-92 = \/92(4 1) = 9V3(cm)
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AB = 10 9 o, MG 289 Holg
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14. 183} 2ol AB = 10cm,BC
90m,A_C = 8cm
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@ 2cm @ 2.3cm
@ 3.8cm @ 4cm
@ 4.5cm

10-AE+8-AE+2ED =9
18-2AE+2ED =9

~AE-ED = g = 4.5(cm)
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e 233 e Az ABCD
4 AB = 16, AD = 18 °|3
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00’ =8+ x
O0G=18-8-x=10—-x
0G=8-x

(84 x)2=(8-x)%+ (10 - x)?
x? = 52x 4+ 100 = 0, (x - 2)(x = 50) = 0
Lx=2("x<38)




